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1. Economic growth is defined as:
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the percent change in per capita income, or GDP.
the percent change in prices, or GDP.
the decline in the unemployment rate.

the difference between the nominal and real GDP.

changes in technology.

2. When a lower-income economy’s GDP is able tacltap” with a higher-income economy’s
GDP, this behavior is related to an important cphaethe study of economic
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growth
divergence
convergence
fluctuations
asset markets

Figure 1

a diminishing marginal product of capital.
a constant marginal product of capital.

a diminishing marginal product of labor.
an increasing marginal product of capital.
Not enough information is given.

Consider Figurel. The shape of this productimttion suggests:
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4. In the Solow model, in every period, a fractadriotal output , Which

a. is saved; reduces next period’s capital stock

b. depreciates; adds to next period’s capital stock

Cc. is saved; adds to next period’s capital stock

d. is consumed; adds to next period’s capital stock

e. is consumed; reduces next period’s capital stock

5. In the Solow model, with population growth,

a. thereis no steady state in output per person.

b. the economy never settles down to a steadywsttteno growth in output per person.

c. the economy eventually settles down to a stetatg with no growth in output per person.
d. the economy eventually settles down to a stetatg with no growth in aggregate output.
e. None of the above is correct.

6. A balanced growth path is defined as a situatiomhich:

a. the output growth rate is constant.

b. the growth rates of all endogenous variablevarable.

c. the growth rates of some of the endogenoushlasare constant.
d. the growth rates of all endogenous variablexanstant.

e. All of the above are correct.

7. Generally, during a recession:

a. inflation rises.

b. the natural rate of unemployment rises.

c. the employment rate rises.

d. the unemployment rate rises.

e. thereis no change in the unemployment rate.
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8. If the income taxes on wages increase, the Isingply curve will shift left, but what happens {
the unemployment rate?

It unambiguously falls because the labor pg@iton rate changes.

It unambiguously falls because some workers dudf the workforce.
It unambiguously rises because some workers alnbpf the workforce.
It is ambiguous because some workers drop otheofvorkforce.

None of the above is correct.
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9. When discussing inflation, we generally speak of terms of:

the percent change in the consumer price index.
the percent change in the GDP deflator.

the level of the consumer price index.

one over the consumer price index.
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10. The quantity theory states that the nominal @&Ddjual to:

the real GDP.

the number of dollars in circulation.

the velocity of money.

the effective amount of money used in purchases.
velocity times real GDP.
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11. According to the classical dichotomy, in thedaun, there is:

accelerating economic growth.

perfect connectivity between the nominal andl sekes of the economy.
complete separation of the nominal and reaksidi¢he economy.

no growth after the economy reaches the steathy. s

zero inflation.
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12. According to the Phillips curve, short-term mes in inflation are due to

changes in interest rates.

changes in unemployment.

changes in short-term output fluctuations.
changes in long-term inflation.

changes in long-term output.
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13. Consider Figure 2. The dashed line is potentighut and the solid line is current output;
therefore,

areas a and b are booms.

area b represents an economic boom, and asear@cession.
the economy is in neither a recession nor a hoasreas a and b.
area a represents an economic boom, and aseafecession.
area a and b are expansions.
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14. In the short run, if the Federal Reserve resluterest rates,

firms do not change their capital stock.

firms buy less capital and the marginal prodiatapital falls.
firms allow their capital to fully depreciate.

firms accumulate more inventory.

firms buy more capital and the marginal proadidcapital falls.
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15. When the multiplier is included in the IS curve

a. ademand shock has a larger impact on shofftuciuations than with the standard IS curv
b. achange in the real interest rate has a larggact on short-run fluctuations than with the
standard IS curve.

c. ademand shock has a smaller impact on shoffluctuations than with the standard 1S
curve.

d. achange in taxes has no impact on short-rysutut

e. aand b are correct.

D

16. Firms alter their prices based on:

expected inflation.

expected inflation and supply conditions.
expected inflation and demand conditions.
demand conditions.

the previous period’s aggregate supply.
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17. Which of the following statements is not true?

a. Many agents suffer from money illusion.

b. Small menu prices lead to price stickiness.

c. Under adaptive expectations, prices are peyféettible.
d. Inthe classical dichotomy, all prices are fixi

e. Imperfect competition may lead to price inflekifa

18. Which of the following best describes movensanhg the AD curve?
a. Achange in the inflation rate causes the cebénak to change interest rates, thereby causjng

a corresponding proportional change in investment.
A sudden increase in the tax rate.

c. Achange in monetary policy.
d. Achange in the inflation rate causes the fddgraernment to reduce discretionary spending.
e. Achange in unemployment causes the federalrgment to reduce discretionary spending.
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19. The aggregate supply curve is derived from:

Okun’s law.

the Phillips curve.

the Fisher equation.

the monetary policy rule.

the interaction of the IS and MP curves.

® 2 0 T

20. The fact that any model that utilizes adaptixpectations necessarily will be misspecified ig
called:

a. Okun’s law.

b. time inconsistency.
c. the Lucas critique.

d. the Slutsky paradox.
e

monetarism.
21. In the IS-LM framework, when the Fed the federal funds rate in the aftermath g
the decline in housing prices, the risk premiumegase to a(n) in the real interest

rate which caused a(n)

a. lowered; increase; deeper recession
b. raised; decline; commodity bubble

c. lowered; decline; expansion

d. held constant; economic “settling”

e. lowered; decrease; deeper recession

22. The liquidity trap occurs when:

a. nominal interest rates are high.

b. real interest rates are high.

c. there is not enough money in bank vaults.

d. the Fed interferes with market interest rates.
e. there are too many excess reserves.
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23. The Taylor rule expresses the federal fundsaatthe weighted average of:

a. the unemployment rate and inflation.

b. inflation and short-run output.

c. the misery index, money growth rate, and thetgage rate.
d. the CPIl and real GDP.

e. long-run output and the natural rate of unemmpient.

24. The real exchange rate measures:

a. the number of foreign goods required to purclaasiagle unit of a domestic good.
b. the amount of foreign currency you can get fog anit of domestic currency.

c. the number of foreign goods one unit of domestitency can buy.

d. the value of foreign currency denominated in dstic prices.

e. the relationship between foreign and domestiation.

25. Exchange rate stability is desirable becaumedden sharp of the exchange ra
could

a. depreciation; increase import prices

b. depreciation; exacerbate debt held in foreignecicies

C. appreciation; decrease export prices

d. All of the above are correct.

e. aandb
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